BERESELE—IRERIS
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o [EE (Mantel) 1 G(V, B)R2RE=fmnE, N E| < 2
(SEBE] SHBER, MR E| > n2/4, N—EE=f.
n= 1,27 BEIR, TERKHEME, BRNTFHEn < NEOHEM, T

o mEHmME> C2, MiREARERR, HE=A.
o mEHnH< =2, 0y

B, o}, V(E))| = |B| - (B - 1> % - 022

RAHFREN — 20T0R, A, 22— HHRRESEHMuEREE, XFvEIoEE, LREM
Eiuv, BEEI—GHI=FHR.

o [E# (Taran) ] MRG(V, E)RFEEK, HnE, N:

—1=n-2.

r—2 o
<
Bl< s
o [FH) icg(G)RGHRBBNKE, |V|=n, 9(G) > 5 (EHEFEEC;,Cy) .
|E| < %n\/n —1.

(E1Z] S—EfFlE

YD dw) =) dw)?

ueV viwuelE veV
(ABHFIHEEMR, Bd(v)itETd(v)R, FRASTENFEST)

(GERR]
o {Fku €V, i8S = Ng(u) = {v1,--+,vq}, Hd = d(u). Bi&S; = {v:vw; € E,v # u}.
o MS;NS; = 2% # j, BUWGHBESR; MES; N{u,v1,---,v4} = I, BUNGCE=FHF.

o BTULENESMERZKER, Hi1E:

(d+1)+2 dv)=1)<n= Y dv)<n-1, YueV

vvueE

Xu € VKHIAE

n(n—1) = Z Z d(v Z:d(v)2 > (ZEEV d('u)) = 4’?2 . (Cauchy — Schwarz)

ueV vivueE veV n

R


af://n55

|E| < %n\/n -1
o [fiRE] G(V, BE)RAEE K iB®RE, N|E| <n.
(ERR] HRIEEFEEAS
1
|E| = 9 Z d(v),

veV(G)

EAFREEK 3, FLOHHTv € V(G)#BAd(v) < 2, BN, NREFEEvEEd(v) > 3, NEHSvED
BEIR=1Ru, uz, us, WG (v,ur, us, us; vur, vuy, vus)2K1 3, FILL:

1 1
Bl <5 D dw) < S V(G)]-2=|V(G)]
veV(G)
o [fIf] &G = (V, E)EF8 8 HIT—EEBLLIANMEInMEERE, B E| < (k—1)n

GIERR] XTRmEn 3. n = IR , TEERIRXMEEIIM < nfEieEEMzH, RGR— I nME
BErEaERkFLIN, TRE:

» A(G) < k-1, BUEFE—NIREHATE, FTEXMAEENMTRANSELEE, TREGES
K. fEnFE, FE.

s BufiEBd(v) = A, Md(v) <k—1, £E8G —v, NE(G—v)| = |E| —d(v), RIEEHR
®:
|E| —d(v) < (k—1)(n—1)=|E|<dw)+(k—-1)(n—-1)<k—-1+(k—1)(n—1)=(k— 1)n.

o [fIE] RG = (V, E)RraaP Mnemses, nE < &P
©2)
= REEIE + 1 < nthstRk < n — LI, B B| < 2L sy esmemisr.
o TSNS, n = IRRRER, Bigtm < neEEny, FERV(G)| = n.

B, fRIERMRIR

IB(G —v)| < ("’_21)" ~ "“;1 = |B| = |B(G - v)| + d(v) < @

EIt FERSEIERAGHFEERRE(k — 1)/ 209805

» BRIEE, RIRAAIZ, BHREI(G) > k/2, REPERMEAP = vy ---ve, RIEFAEZEP1
e < k.

» WRvivp € BE(G), WGHFEFEC, BFGREEE, Fw#AEFEEu ¢ Cp, LURkv, € C;
s vpu € Cp, BUCHREBRRECGH—MNEENX (BFCHRRAFG — CHhEfTRSRE
&) , Bl = n, BRXNI < k <n — 1FE. EBEEuvy, - vv1 - - Vp_ 1. XR—FKE
2L+ 108, SPREKETFE.

» WBvv, € E(G), i8S = {v; € P:viviy1 € E(G)}, T ={v; € P:vv, € E(G)},
FRvv € E(G)LARv:, v ERENPHRINAEE (BUIRSHLEILL PEIKEE) |, FBIETA
|S| = dg(v1), T = dg(ve), FrLA:

ISUT| = |S| +|T| —|SNT| > 25(G) — |SNT| > k—|SNT].

ISUT| < [V(P)|-1<k—1,
FRIL:

E—|SNT|<k—-1=1|5NT|>1.



TR € SNT (82k # 1,2,---,L - 1,0) , S, € SNT, 1Hid

11 € E(G), mBuyve € E(G), MNviH&, EBvi1ves1 - - vvg - - - v1, WXE—ME
HRE, BHMEGEETEC,, REGREEEE, HZBRNCHEAALMKEIGHERERL 4 1
RIEE, NERIKEINEETE.




	离散数学方法—极值图论

